Notation Scientifique (D)

Iranscrivez chaque nombre ci-dessous en notation standard ou scientifique,

4,63 x 10° = 9,71 x 10* =
511%x10° = 6300000 =
1600 = 2,68x10° =
45 % 10* = 90 000 000 =
923500000 = 5503 x 10° =
786 000 000 = 3100000 =
3,5x108 = 236900000 =
313000000 = 88 000 000 =
8,36 X 108 = 98000 000 =
870000 = 94800 000 =
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Notation Scientifique (D) Solutions

Iranscrivez chaque nombre ci-dessous en notation standard ou scientifique,

4,63 x 10°

511 x 103

1600

4,5 x 10*

923 500 000

786 000 000

3,5 x 108

313 000 000

8,36 x 10°

870 000

463 000

5110

1,6 x 103

45000

9,235 x 108

7,86 x 10°

350000000

3,13 x 10°®

836 000 000

8,7 x 10°

9,71 x 10*

6300 000

2,68 x 10°

90 000 000

5,503 x 10°

3100000

236900 000

88 000 000

98 000 000

94 800 000

97 100

6,3 X 10°

2680000

9 x 107

550 300

3,1 x 10°

2,369 x 10°

8,8 x 107

9,8 x 107

9,48 x 107
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